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<char/>
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/[l refer to Ex 10-1 Declare a Char Variable
char cl="a";
charc2="b";

</char>



<char/> 4

I Lab 10-1: R
—+J0 FIFFEX 10-1EMHMEE  MAMUTARBERNES
= o 42 3] ) 2 5 (9 FNEFBHER? FRERHERNVERR -

FE = 2R 1) a (2) 1 (3) ab (4) 1234 -
BRERERNTT, | D y
B IEFRPITEME #include <stdio.h>

zzEI’H‘ ftﬂ: r’:ﬁ?% Int main(){
r%C 1 [E3E . sEEVEY [*Ex 10-1: Read and Print a Char */
5 iz th & = E printf("Ex 10-1: Read and Print a Char\n");
Fose 1§|JtII]. char c;

printf(" Please enter a char:\n");
scanf("%c", &c);
printf(" The char is %c\n", c);

2021/12/08 </char>



<special char/>
159X FTT
BTFHRFITHEERM ZANREDR - KXMERTRSNK -

-

Expression Meaning Expression Meaning
Space "\a' alarm
"\t' tab "b' backspace
"\n' newline "\\' backslash
( )
Lab 10-2:
k%ﬁ% — =D - sl P AR IAFIT © )
</special char>

2021/12/08



<char cmp/>
FICLLER

P EZEEN hﬂi :
BIRAGFR O AT A==
== X%Ulz”zﬁméz%ffﬁ
3 AE/EE ;
Z - o] LA 7:73"4\
RE9A - LB
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A5 {81 /5 45 6 38 32 1 T 1
75 774 [ T {4 1L 5 -
N2 8% LA—%AR:

2021/12/08

[*EXx 10-3: Char Comparison */
printf("Ex 10-3: Char Comparison\n");
charcl='a',c2="a",c3="A"c4="9]

If (c1l==c2){
printf("c1 (%c) and c2 (%c) are equal\n", c1, c2);
} else{
printf("c1 (%c) and c2 (%c) are different\n", c1, c2);
}
if (c1>c3){

printf(*cl (%c) is larger than c3 (%c)'\n", c1, c3);
} else if (c1==c3){

printf(*cl (%c) and c3 (%c) are equal\n", c1, c3);
} elsef

printf(*cl (%c) is smaller than c¢3 (%c)'\n", c1, c3);
}
If (c1>c4){

printf("c1 (%c) is larger than c4 (%c)\n", c1, c4);
} else if (c1==c4){

printf("cl (%c) and c4 (%c) are equal\n", c1, c4),
} elsef

printf("c1 (%c) is smaller than c4 (%c)\n", c1, c4);
}

</char cmp>



<char cmp/> 7
FICEEER

3BWEEX 10-3 - FMoJUENE a>Aanda>9 -
IBEEITE A IR O sEEEER KIE?

/ablOB \

seaT—{ERE T - FBRR[a-z] ~ [A-Z]EA[0-9] 2 BRI A/ B & ?

\_ /

2021/12/08 </char cm P >




<C h ar Cm p/> Tl | [ | el | B TR | EEMD | TNE | R | T | Tl | +rREl Ei-ﬂé 8

00100000| 32 20 |(space) | 01000000 64 40 | @ |otooo00| o8 60

00100001| 33 21 i |otooo001| 65 41 A [o1100001| o7 61 3

— .- 00100010| 34 22 * | o1000010| 66 2 B |o1oo010| o8 62 b

VAN 00100011 | 35 23 # |otoooo11| &7 43 c [o100011| o9 63 c

% J | ; X 00100100 36 24 $ |01o00100 68 44 D |o1100100| 100 64 d
00100101| 37 25 % | 01000101 69 45 E | 01100101 | 101 65 e

00100110 | 38 26 & | 01000110 70 45 F |ot00110 | 102 66 f

Soo - — = = 00100111 | 39 27 © |oto00m1| 71 47 G |oto0111 | 103 67 g
L ~ A 1 & 1Fa E 1E i 2 Eu E,\J ﬁ% *E ’ 00101000 | 40 23 ¢ |o1001000| 72 43 H |o1101000| 104 62 h

0010 1001 4 29 il 01001001 | 73 49 || 01101001 | 105 69 i

K ; : *IJ o A: ;CI I '||’ En\i ED LJ I Iel I O 0010 1010 42 2A * 0100 1010 T4 44 J 0110 1010 106 A i

E 0010 1011 43 2B + 0100 1011 75 4B K 01101011 107 6B Ik

? 0010 1100 44 2C X 0100 1100 T8 iC L 0110 1100 108 6C |
u%‘ G- \E EEl H—: &ﬂ!ﬁ E E’J J %‘ ﬁj [

,_’_ ._‘_l 0010 1101 45 2D = 0100 1101 7 4D M | 0110 1101 | 109 6D m
% ’be ﬁ T I 0010 1110 46 2E . 0100 1110 78 4E N | 0110 1110 | 110 GE n
0010 1111 47 2F 0100 1111 79 4F O | 0110 11 m 6F 0
00110000 | 48 30 0 0101 0000 | 80 50 P | 01110000 | 112 70 p
0011 0001 49 31 1 01010001 | 81 51 Q [ 01110001 | 113 m q
00110010 | 50 32 2 0101 0010 | 82 52 R | 01110010 | 114 72 r
0011 0011 51 33 3 0101 0011 83 53 S | 0111 0011 115 73 5
j“E g 12( % l‘% : 00110100 | 52 34 4 01010100 | 34 54 T | 01110100 | 116 74 t
0011 0101 53 35 5 01010101 | 85 55 U [01110101 | 117 IE] u
0011 0110 54 36 G 01010110 | 86 56 vV o[ 01110110 | 118 76 v
1 . O- 9 0011 0111 55 37 7 0101 0111 a7 57 W | 0111 0111 19 I W
0011 1000 | 56 38 ] 0101 1000 | 38 58 X | 01111000 | 120 78 X
0011 1001 57 39 9 01011001 | 89 59 Y| 01111001 | 121 79 y
2 . A-Z 00111010 | 58 3A : 01011010 | 90 5A Z | 01111010 | 122 TA z
0011 1011 59 3B ; 0101 1011 91 5B [ 01111011 | 123 7B i
0011 1100 60 3c < 0101 1100 | 92 5C Vo011 1100 | 124 7c
3 ] a-z 0011 1101 61 D = 0101 1101 93 5D 10111101 | 125 D i
0011 1110 62 3E = 0101 1110 94 5E 01111110 | 126 TE =
0011 1111 63 3F ? 0101 1111 95 5F 0111 1111 127 TF DEL (delete)

2021/12/08 </char cm P >



<C h ar Cm p/> —el | ten trEm]| B | Cea | tea|deen B8R —eo | tea|trhen] 2w 9

00100000 32 20 |(space) | 01000000 64 40 | @ [o1oo0000| 98 60

00100001 | 33 21 I | 01000001 65 41 A [o1100001 | o7 61 a

Id_l — 00100010 34 22 " |01000010| 66 42 B | 01100010 98 62 b
00100011 | 35 23 # 01000011 | 87 43 c |o1100011 | 99 63 c

X 00100100 36 24 § | 01000100 68 44 D |o1100100| 100 64 d

00100101| 37 25 % |01000101) 69 45 E | 01100101 | 101 85 8

00100110 | 38 26 & 01000110 70 45 F |ot100110 | 102 66 i

s 0 3 00100111 | 39 27 © | ot000111 | 71 47 G [om00111 | 103 67 g

ﬁu % 1? ,“m E >~ E % E 1@ Tr EJE % 00101000 | 40 28 ( |o1001000| 72 43 H [o1101000 | 104 68 h

0010 1001 41 29 il 0100 1001 73 49 | 0110 1001 108 B89 i
I ‘T —
0010 1010 42 2A * 0100 1010 T4 44 J 0110 1010 106 A i
-I-/\ sl Y | k’- kA 0010 1011 43 2B + 0100 1011 75 4B K 01101011 107 6B Ik
E + - \ %a E 1Tr 5"' 0010 1100 44 2C X 0100 1100 T8 iC L 0110 1100 108 6C |

—_— 00101101 | 45 2D - |otoo1101| 77 4D M | 0110 1101 | 109 6D m
N = A (= = =]
Hq ’ D =] Hq Ea + R \ 00101110 | 46 2E . |otoo1mo| 78 4E N | 0110 1110 | 110 BE n
- 00101111 | 47 2F / |otoo111 | 79 aF o |oto1 | 111 BF 0
ﬁ —
%7-5 o 00110000 | 48 30 0 | 01010000 80 50 P |o1110000 | 112 70 p
00110001 | 49 31 1 |oto10001| g1 51 Q | 01110001 | 113 71 q
C C 00110010 | 50 32 2 | 01010010 82 52 R | 01110010 | 114 72 r
#include <stdio.h>
00110011 | 51 33 301010011 83 53 S | 01110011 | 115 73 5
INnt ma|n(){ 00110100 | 52 34 4 |01010100| g4 54 T |01110100 | 116 74 t
% . . * 00110101 | 53 35 5 01010101 85 55 U | 01110101 | 117 75 u
/ EX 10 4 Char Iterat|0n / 00110110 | 54 36 6 | 01010110 86 56 v | 01110110 | 118 76 v
printf(" Ex 10_4: Char |teration\n"); 00110111 | 55 37 7 |oto10m1 | e7 57 | w |00t | 119 7 W
. . 00111000 | 56 38 8 | 01011000 88 58 X | o111 1000 | 120 78 X
I nt I ' 00111001 | 57 39 9 | 01011001 89 59 Y| 01111001 | 121 79
_ 1, . ,
Chal‘ c="'a : 00111010 | 58 34 - |oto11010] 90 54 Z |om1010 | 122 A z
. ) . 00111011 | 59 3B o |ot011011| 91 58 [ | o111 1011 | 123 7B i
for (|— y 1< y |++){ 00111100 | 60 ic = | 01011100 | 92 5C Vo[ o111 1100 | 124 7C
: n n - 00111101 | 61 3D = | 01011101 | 93 50 1 o111 1101 | 125 D 3
printf(" %c\t", c+i); ° : -
0011 1110 | 62 3E = |01011110 | 94 5E « o111 1110 | 126 7E =
} 0011 1111 | 63 3F 2 01011111 | 95 5F _ ottt | 1z 7F | DEL (delete)
} Ex 10-4: Char Iteration

20211205 RSN - </char cmp>



<getchar & putchar/> 10

getchar & putchar

ZEiKMEEE scanf{«,( [*Ex 10-5: putchar, getchar */
Ziormthg“ HYE 1ZE  char c4gc;
atl AR B B R printf(" Ex 10-5: putchar, getchar\n");

g’_‘TE-I#%ﬁ; —_ﬁi}:{éf-‘- et =E printf("Plz enter a word: \n");
B - #B E'/i' getc;ﬁar £ e49¢ = getehar(

putchar(c4gc); //print the variable c4gc

putchar ° |
putchar('\n'); //newline

putchar |ENHIEERNZFIT

getchar |BUSE—E=FIT -

2021112108 </getchar & putchar>



<getchar & putchar/> 1

getchar & putchar

MAME—RRABEE —E - MIRBSELERSEMHEBEESETL
FEEZHIFITE?
[*Ex 10-6: putchar, getchar */
char c4gcl, c4gc?2,;
printf("Ex 10-6: putchar, getchar\n");
printf("Plz enter a word: \n");
c4gcl = getchar();
c4gc2 = getchar();
putchar(c4gcl); //print the variable c4gcl
putchar(c4gc?2); //print the variable c4gc?2

2021/12/08 pUtChar(l\nl); /[Inewline </getChar & pUtChar>




<char built-in func/> >

Char Built-in Function #include <ctype.h>

int isalnum(int c) MEEGMEFHFE -
int isalpha(int c) mMEEhGMTFR -

int isdigit(int c) BB EAm T EURF
int islower(int c) mEEAR/IN\BFN -

int isupper(int c) WMEEERANEFE

int isspace(int c) BEEEMER -

int tolower(int c) HABFHER/NSFE -
int toupper(int c) FNEFHESAEFE -

2021/12/08 </char built-in func>



<char built-in func/> 5

Char Bullt-in Function

#include <stdio.h> Ex 10-7: Char Built-in Function
#include <ctype.h> [isalnum test] i=10 ©

Int main(void)

{

2021/12/08

[isalnum test] cl1l="1" 4

[isalnum test] j='B' 1

[*Ex 10-7: Char Built-in Function */ [%Salpha test] i=1<? | %)
charcl='1"¢c2="a" c3="A" [isalpha test] cl1="'1"' ©
inti=10,j="B";

printf("Ex 10-7: Char Built-in Function\n");
printf("[isalnum test] i=10 %d\n", isalnum(i));
printf("[isalnum test] c1="1"' %d\n", isalnum(c1l));
printf("[isalnum test] j='B' %d\n\n", isalnum(j));
printf(“[isalpha test] i=10 %d\n", isalpha(i));
printf("[isalpha test] c1="1" %d\n\n", isalpha(cl));

</char built-in func>



<char built-in func/> 4

Char Bullt-in Function

: e g - 0 TR PRt TP [isdigit
printf("[isdigit test] i=10 %d\n", isdigit(i)); [isdigit

printf("[isdigit test] c1="1" %d\n\n", isdigit(cl));
printf("[islower test] c2="a' %d\n", islower(c2)); Eigﬁ:i
printf("[islower test] c3='A" %d\n\n", islower(c3)); _
printf("[isupper test] c2='a' %d\n", isupper(c2)); EEEEEZ:

printf("[iIsupper test] c3='A' %d\n\n", isupper(c3));

[isspace
printf("[iIsspace test] '' %d\n", isspace(' ')); [isspace
printf("[isspace test] '\t' %d\n\n", isspace('\t')); el
printf("[tolower test] c3='A"' %c\n", tolower(c3)); [ toupper

printf("[toupper test] c2='a’ %c\n", toupper(c2));

2021/12/08 </char built-in func>



<char2int/>

Char to Int

MRS KEMELS
ZHNEIEERFIT
(EEEY - 3R 40T 45
F I R B EE?
(1) atoi() // stdlib.h
(2) (int) char

Ex 10-8: Char to Int
by using atoi() => 9

by using (int)c => 57
by using (int)c-48 => 9

2021/12/08

#include <stdio.h>
#include <stdlib.h>
Int main(void)

{

[*Ex 10-8: Char to Int */
printf("Ex 10-8: Char to Int\n");
char c='9';

iInt ml, m2, m3;

m1 = atoi(&c);

15

0010 1111 47 2F
oonowo s [ w0 [ 9,
0011 0001 49 £ | 1
0011 0010 50 32 2
0011 0011 5 33 3
0011 0100 52 34 4
0011 0101 53 35 ]
0011 0110 54 36 3]
0011 0111 55 37 7
0011 1000 56 38 3
0011 1001 57 39 g
0011 1010 53 3A

printf("by using atoi() => %d\n", m1);

m2 = (int)c;

printf("by using (int)c => %d\n", m2);

m3 = (int)c-~;

printf("by using (int)c-48 => %d\n", m3);

</char2int>
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<String/>

memory

o |
% Hle ]|l |l | Il ]o wlo|r | | | dj|\O

FEIE ﬁ?aéraﬂﬁl—?—mﬁﬂﬁﬁkﬂ’]l@g' (¥Bf#) - HEE—E=FtELL
ZFio T\0 .y MERE -

[ —

EEBCEATZESLimporti#R > #include <string.h>
R FEINESAHINE? mER > [ /] BNA TR
PFRLlF & = FiobEdl - FIToMESER > char ; BIE - FE
FE R char [//]1]

e.g., char [50];

“Ild}

i}

2021/12/08 </Strin 0 >



<String/> | . B
#include <stdio.h>

ZFEREE[ES  #include <string.h>

_ iInt main(){

3 BE ; N %}?Ejz [*Ex 10-9: Declare a String */

—T—E Th 7= 52 intf(" e} i "
=+ i printf("Ex 10-9: Declare a String\n");

g;ﬂ;ﬂéﬁﬁkﬂ char stri[5] = "hello";

= ?é( 1@%‘"27_5 = char str2[c] ="hello";

.i:’EET"'—T_B r'\0' ’_JE char str3; | f:'r'].ello";

MEER - char str4[>0] ="";

orintf("strl[5] = %s\n", strl);
Ex 10-9: Declare a String [)rintf("strz:G] — %S\n", Str2),
strl[5] hello@ . n - "

str2[6] = hello orintf("str3[50] = %s\n", str3);

Ctrafee] o orintf("str4[50] = %s\n", strd):;

2021/12/08 </Strin 0 >



<Length & Copy/>

Length, copy

TEEREZIPEN A== FHstring R
1. strlen() :: ARETEZFREZHNRE  FESRENZELFTT -

2. strcpy(var, string) :: FAZREEHF &string - IElZ & vartE | -

3. strncpy(var, string, count) :: RAREHFZNIF TR countiyF
Bstring - IHEIEZvarE@E -

*ABERFFENGE  FEE—ERBE...

</Length & Copy>



<Length & Copy/>

Ex 10-10: Length & Copy
The original string: hello! (length: 6; size: 7; int i: T)

S t r | e n & S t r C RAM address: 000000000061FEOC 000000000061FEOS
The strcpy's string: A-Wond (length: 6; size: 7; int i: T)

RAM address: 000000000061FEOC 000000000061 FEOS

[*Ex 10-10: Length & Copy */ 61FEO05 61FEOC
int 1 = 84; nlel i {110l |0

Charcl[]::"heuort .................................................................... -
printf("Ex 10-10: Length & Copy\n");

printf("The original string: %s (length: %d; size: %d; int I %c)\n", cl,
strlen(cl), sizeof(cl), I);

printf("RAM address: %p %p\n", &i, &cl);

strcpy(cl, "A-Wond");

printf("The strcpy's string: %s (length: %d; size: %d; int I %c)\n", cl,
strlen(cl), sizeof(cl), I);

printf("RAM address: %p %p\n", &I, &cl),
2021/12/08 </Length & COpy>



<Length & Copy/> 0
strncpy

[*Ex 10-11: strncpy */ The original string: hello! (length: 6; size: 7; cl: abc)
RAM address: 000000000061FEOC ©00000000061FEBS

char c1[/] ="abc"; [count= 6] The strncpy's string: A-Wond (length: 6; size: 7; cl: abc)

char CZ[ ]="he||o!"; [count= 7] The strncpy's string: A-Wondeabc (length: 10; size: 7; cl: abc)

printf("Ex 10-11: strncpy\n");
printf("The original string: %s (length: %d; size: %d; c1l: %s)\n", c2, strlen(c2), sizeof(c2), cl);
printf("RAM address: %p %p\n", &cl, &c?2);

strncpy(c2, "A-Wonder", 6);

printf("[count= 6] The strncpy's string: %s (length: %d; size: %d; cl: %s)\n", c2, strlen(c2),
sizeof(c2), cl);

strncpy(c2, "A-Wonder", 7);

printf("[count= 7] The strncpy's string: %s (length: %d; size: %d; cl: %s)\n", c2, strlen(c2),
sizeof(c2), cl);

2021/12/08 </Length & Co py>



The original string: hello! (length: 6; size: 7; cl: abc) 21
<Length & Copy/> RAM address: 000000000061FEOC ©000000000061FEQS

[count= 6] The strncpy's string: A-Wond (length: 6; size: 7; cl:
[count= 7] The strncpy's string: A-Wondeabc (length: 10; size:

Strncpy [count= 8] The strncpy's string: A-Wonderbc (length: 10; size:

[count= 9] The strncpy's string: A-Wonder (length: 8; size: 7;
[count=10] The strncpy's string: A-Wonder (length: 8; size: 7;
[count=11] The strncpy's string: A-Wonder (length: 8; size: 7;

strncpy(c2, "A-Wonder", 8);

printf("[count= 8] The strncpy's string: %s (length: %d; size: %d; cl: %s)\n", c2,
strlen(c2), sizeof(c2), cl);

strncpy(c2, "A-Wonder", 9);

printf("[count= 9] The strncpy's string: %s (length: %d; size: %d; cl: %d)\n", c2,
strlen(c2), sizeof(c2), cl);

strncpy(c2, "A-Wonder", 10);

printf("[count=10] The strncpy's string: %s (length: %d; size: %d; cl: %d)\n", c2,
strlen(c2), sizeof(c2), cl);

strncpy(c2, "A-Wonder", 11);

printf("[count=11] The strncpy's string: %s (length: %d; size: %d; cl: %d)\n", c2,
strlen(c2), sizeof(c2), cl);

2021/12/08 </Length & Co py>



<Length & Copy/> =

COpPyYy

char *strcpy(char *dest, const char *src)
EHZF R Bsrcig@Zdest °

char *strncpy(char *dest, const char *src, size t n)
Bl AN & Zn(E@F /I F /K bsrciamfldest -

BEERF(EE HIRundefined behaviorllg?

strcpy strncpy
(1) #EEE R (1) #EEE R
(2) destfllsrcEE2mME 7 (2) destfllsrcEEE2ME 7
(3) MR destiga 2Ry A2 —1EF uPE Sl (3) MR srcskdestE P —Ei5 2 A2 —1E=F ohES]
(4) MNRsrcia@MNFRLBLI\0EEE (4) R dest-A29& (Ebcount?a)
(5) MRsrcia@MNFRLBLI\OEEE

2021/12/08 </Length & Co py>



<Length & Copy/> &

7% (&7 & i {11

Int i = 84;

char s[6] = "Hello";
BEERIEMPIECIEREPEREERFIE?
Sy i v

H| e || | | o |0 |8 | 0| O0|O (olthers o) (I_ab 10-4- A
. . MR FEZHelloo -
t . "HelloHa"); - N
FHEEE iSO %%%% EN i3
Sy i 4 ERE? AEEE?
H | e I I 0 H| a | O 0 0 (olthers...) \-

a = 97 (according to ASCII dex table); therefore, i now is 97 not 84.

2021/12/08 </Length & Co py>



<Length & Copy/>

Ref: ASCII Table

Dec Hxoct Char Dec Hx Oct Himl Chr  |Dec Hx Qct Html Chr] Dec Hx Oct Html Chr
0 0 000 NOL frmall) 32 20 040 &#32; Space| 64 40 100 s«#6d; [ 95 50 140 &#96;
1 1 001 30H (start of heading) 33 21 041 &#33; ! g5 41 101 &#65; 4 97 61 141 «#97; a
2 2 002 5T (start of text) 34 22 042 «#34: 7 g6 42 102 «#66; B a8 62 142 &#98: b
3 3 003 ETX (end of text) 35 23 043 &#357 # &7 43 103 «#67: C 99 53 143 «#99:; C
4 4 004 EOT (end of transmiszion) 36 24 044 &#367 § 63 44 104 «#68; D [100 &4 144 &#100; d
5 5 005 ENO (endquiry) 37 25 045 &#37r % 69 45 105 «#69; E [101 65 145 &#101; &
& 6 006 ACE [(acknowledge) 35 26 046 &#38; & 70 45 106 &#70; F (102 66 145 &#102; £
7 7 007 BEL (bell) 39 27 047 &#39; " Tl 47 107 «#71: G |103 a7 147 &#103; o
& &8 010 B3 (backspace) 40 28 050 &#40; | 72 48 110 &#7Z; H |104 68 150 «=#104: h
9 9 011 TAE (horizontal tah) 41 29 051 &#4l: ) 73 49 111 &#73:; I |105 69 151 «<#105; 1

10 & 0lZ LF (NL line feed, new line)| 42 24 052 &#d=; * 74 44 112 «#74; T |106 64 152 &#106: 3

11 B 013 VT (wertical tab) 4% 2B 053 &#43; + 75 4B 113 &#75; K (107 6B 153 &#107; k

12 C 0l4 FF (NP form feed, new page)| 44 ZC 054 &#44; | 76 4C 114 &#767 L (108 6C 154 &#105; 1

13 D 015 CR  (carriage return) 45 2D 055 &#45:; - 7T 4D 115 &#77; M 109 6D 155 &#l09; o

14 E 0le 30 (shift out) 4a ZE 056 &#d6: . 78 4AE 116 &#7E: N |110 AE 156 £#110; 1

15 F 017 31 (shift in) 47 ZF 057 &#47; / 79 4F 117 &#79; 0 [111 6F 157 &#111; o

16 10 0Z0 DLE (data link eacape) 45 30 060 &#43; 0 g0 50 120 «#80; P [112 70 160 &#112: p

17 11 021 DC1 (dewice control 1) 49 31 06l &#49; 1 Gl 51 121 &#5l; 0 [113 71 16l «#113; g4

15 12 022 DCE (dewice contraol Z) 50 32 062 &#50; 2 Gz 52 1zZZ «#682; R |114 72 1Az &#114; ¢

19 13 023 DCS (dewice control 3) 81 33 083 &#5l: 3 83 53 123 &#83; 3 |115 75 1a35 s#lli; S

20 14 024 DCA (dewice control 4) Lz 34 0gd &#52; 4 G4 54 124 «#54:; T |11 74 164 «=#lla; T

2l 15 NZ5 NAE [negative acknowledge) 53 35 065 &#53; 5 85 55 125 &#85; T (117 75 165 &#117;: u

z2& 1a 026 3¥N (synchronous idle) 54 36 066 &«#54; & g6 56 126 &#56; WV |118 76 la6 «#lld; v

23 17 027 ETE (end of trans. block) 85 37 087 &#55:; 7 7 57 127 &#87; W |119 77 167 &#119; W

24 18 030 CAN (cancel) B& 38 070 &#56:7 8§ 85 58 130 &#84; ¥ |120 75 170 &#120; X

25 19 031 EM  jend of medium) 57 39 071 «#57: 9 59 59 131 &#59; ¥ |121 79 171 «=#1:21:; ¥

26 14 032 3UE (substitute] 58 SA 072 &#58: : a0 54 132 &#90; 2 |122 74 172 &#$l22; 2

27 1B 033 EZC [(eacape) 59 3B 073 &#59; ; 91 5B 133 &#91; [ |123 7B 173 &#123; |

28 1C 034 F3 [(file separator) 60 3C 074 &#60; < 92 GC 134 &#92Z: % [124 7C 174 «#l:24;

29 1D 035 G3  (group sSeparator) 6l 3D 075 &#6l; = 93 5D 135 &#337 ] [125 7D 175 &#125; )

30 1E 036 RZ  (record separator) 62 ZE 076 &#6Z; = 94 EE 136 &#94; * [126 TE 176 &#126;

31 1F 037 U3  [unit separator) 63 3F 077 &#63: ¢ QL EF 137 &#95; _ (127 7F 177 «#1:27;

Source: www. LookupTables.com
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ez Source: https://www.asciitable.com/

</Length & Copy>
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<Length & Copy/>

strcpy & strncpy

4 A

Lab 10-5:

MEx10-11 ?c‘/:ﬁﬁfﬁu IABRERNEZ T - olDIEgIRE] i £
TARPEAA—TR - AR GEEE RUNER -
Eﬁzﬂb@]iﬁﬁﬂt - M AwordiE@iiiE - EREEE —[E8F

1 = :h@é&'\%%%%%ﬂﬁ%czz“ BEEREMEIW - BAZ Eiz
@Jc%;ﬁﬁmﬁ’ﬁcﬁaﬁ W7 LAEX10-11F9 73 T, - Demozt B & 3 A /)\VHS

=z

ETIRE
\_ /

2021/12/08 </Length & Co py>




<Assignments/>

(= S

(i

2ZE8R
https://bit.ly/3siNsqj
https://bit.ly/2UilgyF

BoETR: 2XFE + NUBF

R FERARLEM
F—UFARMER!
F_UZES)\[URFRRKREHE
FENUBFRIGE IR

2021/12/08
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2t | E9m | BlEm | Emth | S@m | lbh | BERE% | hET | EF® | TR | 8R%
A B C D E F G H | J K
10 11 12 13 14 15 16 17 34 18 19
MiiE | ®ER | TIH | BN | ER% | BR% | 168% | EX% | €M% | Zk% | B1%
M N O P Q T U \% w X z
21 22 35 23 24 27 28 29 32 30 33
=P S Y3 ERRLEES
L R S Y
20 25 26 31

</Assignments>
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<Assignments/>
(S

17— 654 RIS R,

RERE I

(i

4

B AE—HBE P EFIEBAL69651244 Ref: hitps://bit.ly/3sjbZvy
FIT A 1 6 9 6 5 1 2 4 4
B 5 1 0 e
REEE x1 X9 X8 X7 NG) x5 x4 X3 X2 x1

(I1X14+0X94+1X8+6X7+9X6+6X5+5X4+1X3+2X2+4X1)+4x%x1
=(1+0+8+42+54+30+20+3+4+4)+4

=166 + 4
=170

170%10R9fSY; i.e., 170 & 10n -
IS 7 EF IR R E!

2021/12/08

</Assignments>
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fEsE—
printf Please input an Taiwanese ID number!
scanf // User input

orintf Answer Value

orintf "This I1s correct a Taiwanese ID number!" if correct
orintf "This 1s NOT correct a Taiwanese ID number!" if iIncorrect

2021/12/08 </ASSig nments>



<References/> 20

References

nttps://openhome.cc/Gossip/CGossip/index.html
https://edisonx.pixnet.net/blog/post/35305668
nttps://www.learn-c.org/
nttp://tw.gitbook.net/cprogramming/

nttps://blog.techbridge.cc/2020/05/03/simple-c-language-introduction-
tutorial/

nttps://openhome.cc/Gossip/CGossip/StringlLengthCopyCat.html
nttps://www.huaweicloud.com/articles/12640716.html
nttps://skylinelimit.blogspot.com/2018/02/c-2.html
nttps://www.learn-c.org/en/Strings

2021112108 </References>


https://openhome.cc/Gossip/CGossip/index.html
https://edisonx.pixnet.net/blog/post/35305668
https://www.learn-c.org/
http://tw.gitbook.net/cprogramming/
https://blog.techbridge.cc/2020/05/03/simple-c-language-introduction-tutorial/
https://openhome.cc/Gossip/CGossip/StringLengthCopyCat.html
https://www.huaweicloud.com/articles/12640716.html
https://skylinelimit.blogspot.com/2018/02/c-2.html
https://www.learn-c.org/en/Strings

